
RoHS CAD Item Code Item Name L W A C1 C2 C3 H1 H2 P d Weight (g) Screw Box (pcs) Carton (pcs)

140-059-073 BLL-45 48 40 13 32 6.5

–

17 4.5 23±3 3.2 28 3×10 20 400

140-059-074 BLL-60 63 46 16 37 8 20 6 34±4 4.2 50 3.5×16 20 400

140-059-075 BLL-80 85 65 20 53 10 22.5 7 47±7 5 100 4.5×16 10 200

140-059-076 BLL-100 105 80 25 66 12.5 26.5

8

59±7 5.5 182

5×20

10 100

140-059-183 BLL-120 127 100 28.5 80 6.75 15
28

56±10
5.2

270 8 80

140-059-184 BLL-150 155 120 30.5 95 7.25 16 74±14 350 6 60

Normal positionReverse position
Can be used in either normal or reverse position.
When installed reversely, latch bolt is easily released just 
with a single push.

BLLd04.eps

BLLd03.eps

[Application Example]

PUSH

BLLd02.eps

BLL-120, 150

C3 C2

8× d

P

PUSH

BLLd01.eps

BLL-45, 60, 80, 100

A
4× d C2

C
1

W

P

LH
2

H
1

BAR LATCH BLL

BLL-100

BLL-45

Material Finish
Stainless Steel 

(SUS304)
Polished

●Latch bolt snaps into the strike to prevent accidental release.

●Push tab on strike to release.

●When installed reversely, latch bolt is easily released just by 

pushing the PUSH part (see “Application Example”).

●AS parts set for installing to aluminium frame also available.

Content of the parts set is as follows.

[Parts Included]
●Pan head tapping screw (SUS)

RoHS CAD Item Code Item Name Aluminium Frame Parts Weight (set)

– 140-041-521
AS-
BLL-60-30-6

30×30
Groove Width 6 mm

Bar Latch BLL-60 : 1 pc
AS Nut AS-6M4 : 4 pcs
M4×10 Hexagon Socket Button Head Screw : 4 pcs

61 

– 140-041-522
AS-
BLL-60-30-8

30×30
Groove Width 8 mm

Bar Latch BLL-60 : 1 pc
AS Nut AS-8M4 : 4 pcs
M4×10 Hexagon Socket Button Head Screw : 4 pcs

85 

– 140-041-523
AS-
BLL-60-40-8-
30-6

Frame: 40×40
Groove Width 8 mm

Door: 30×30
Groove Width 6 mm

Bar Latch BLL-60 : 1 pc
AS Nut AS-8M4 : 2 pcs
M4×10 Hexagon Socket Button Head Screw : 2 pcs
AS Nut AS-6M4 : 2 pcs
M4×12 Hexagon Socket Button Head Screw : 2 pcs

66 

– 140-041-524
AS-
BLL-60-40-
10-30-8

Frame: 40×40
Groove Width 10 mm

Door: 30×30
Groove Width 8 mm

Bar Latch BLL-60 : 1 pc
AS Nut AS-10M4 : 2 pcs
M4×10 Hexagon Socket Button Head Screw : 2 pcs
AS Nut AS-8M4 : 2 pcs
M4×14 Hexagon Socket Button Head Screw : 2 pcs

76 

– 140-041-525
AS-
BLL-80-40-8

40×40
Groove Width 8 mm

Bar Latch BLL-80 : 1 pc
AS Nut AS-8M4 : 4 pcs
M4×12 Hexagon Socket Button Head Screw : 4 pcs

119 

– 140-041-526
AS-
BLL-80-40-10

40×40
Groove Width 10 mm

Bar Latch BLL-80 : 1 pc
AS Nut AS-10M5 : 4 pcs
M5×14 Hexagon Socket Button Head Screw : 4 pcs

131 

PUSH

S
U

S
30

4
PA

T.
P

20

BLL-80

42

10
40

10
40

85

2
2

.5

7

2

6
5

5
3

AS nut

2×M5×14

BLL_ASd04.eps

S
U

S
30

4

PUSH

PA
T.

P

BLL-60

8
2

63

40
10

30

6
3

7
4

6

AS nut AS nut

2×M4×102×M4×14

BLL_ASd03.eps

37

16

S
U

S
30

4

PUSH

PA
T.

P

30
8

6

30
8

2

63

32

16

4
6

3
7

2
0

AS nut

BLL-60

4×M4×10

BLL_ASd02.eps

S
U

S
30

4

PA
T.

P

PUSH

6
2

48

20
6

20

4
.5

3
2

4
0

1
7

AS nut

BLL-45

4×M3×6

BLL_ASd01.eps

22

13

[Dimensions]

Bar latch AS Nut 

Screw

Refer to   : P.20,  : P.526

 Parts Set for Installing to Aluminium Frame Please refer to the series introduction page  for details about AS series.

Parts set of screws and AS nuts used for installing to aluminium frame[AS Parts Set]

490

Industrial Component Hardware Catalogue
No.400

https://global.sugatsune.com/

June 2022


